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Business Administration Discipline



Seminar 1
(Time allowed: 30 minutes)
1.
-3 x 4 + (-2 x -1) - 7 x (-2) + 3 x 8  =

a)
10

b)
14

c)
24

d)
28

2.
33 x 23 + 52 x 52 + 50 - 5-1   =

a)
841.8

b)
685

c)
840.8

d)
684.8

3.
If x = -3 and y = 2, which of the following inequalities is correct?

a)
-y2 > 2xy > x3
b)
2xy < -y2 < x3
c)
2xy > x3 > -y2
d)
x3 < -y2 < 2xy

4.
Two equations containing x and y are as follows:

3x - 2y = 30

4x + 3y = 57

The values of x and y are:

a)
x = -24, 
y = 51

b)
x = 12, 
y = 3

c)
x = 24, 
y = 21

d)
x = 44, 
y = 51

5.
Three equations containing p, q and r are as follows:

p + 2q - r = 12

p + q + 2r = 5

3p - q + r = 4

The values of p and q are:

a)
p = 1/3,
q = 6

b)
p = 3,

q = 1/4

c)
p = 3,

q = 4

d)
p = 1/3,
q = 4

6.
Given that (x-8)(x-3) = 2 + 2x, what are the roots of the equation?

a)
x = 11

and x = 2

b)
x = -11

and x = 2 

c)
x = 6.5

and x = 4.5

d)
x = 6.5

and x = -4.5

7.
3x2 - 10x - 8 can be factorised as:

a)
(3x-2)(x+4)

b)
(3x-4)(x-2)

c)
(3x+2)(x-4)

d)
(3x+4)(x-2)

8.
A company always makes exactly as many units of its product as it sells. Its fixed costs are $5000 a year. In addition, it cost $3 to make one unit, and each unit sell for $8.5. At what level of output and sales per year will the company break even (make neither a profit or a loss)?

a)
588 units

b)
909 units

c)
1100 units

d)
1700 units

9.
3-6 / 3-2 equals

a)
1/6561

b)
1/81

c)
1/27

d)
9

10.
A geometric progression has a 3rd term of 18 and a common ratio of 3. What is the sum of the first five terms of the progression?

a)
90

b)
242

c)
726

d)
2178

11.
Sales of product A in year 1 will be 6750 units. Thereafter, sales volume will increase by 20% per annum. What will be the sales volume in year 12, to the nearest unit?

a)
21600

b)
22950

c)
50153

d)
60184

12.
If y = 3x2 + 8x - 7, what values of x would give a value of y of 4?

a)
x = -11

and   x = 3

b)
x = 


and   x = 1

c)
x = -3

and   x = 1/3

d)
x = -1

and   x = 



[image: image3.png]



The purpose of this seminar exercise is to help the students to identify and highlight their strengths and weaknesses in mathematics. Although BIA is not a mathematics subject, certain extent of understanding and interesting in mathematics, figures and data, are necessary and helpful to manage the subject well. 

Tutors should encourage the weak students to pay more effort in the subject, and closely monitor their progress during the course. 

Tutors should emphasise the difficulty and importance of the subject to the students before it is too late.

Seminar 1 (Suggested Solution)

1.
(d)

2.
(a)

3.
(a)

4.
(b)

5.
(c)

6.
(a)

7.
(c)

8.
(b)

9.
(b)

10.
(b)

11.
(c)

12. (b)

Seminar 2

1.
Those methods involving the collection, presentation, and characterisation of a set of data in order to properly describe the various features of that set of data are called


(a)
inferential statistics.


(b)
the scientific method.


(c)
sampling.


(d)
descriptive statistics.

2.
Which of the following reflect the need for statistical sampling?


(a)
It is too costly to deal with the complete population.


(b)
It is too difficult to deal with the complete population.


(c)
It is too time consuming to deal with the complete population.


(d)
All of the above.

3.
The use of the results of a political poll is an example of


(a)
inferential statistics.


(b)
descriptive statistics.


(c)
a parameter.


(d)
a statistic.

4.
An examination of the socio-economic and physical characteristics of the employees of a particular firm is an example of 


(a)
inferential statistics.


(b)
descriptive statistics.


(c)
a parameter.


(d)
a statistic.

5.
The universe or “totality of items of things” under consideration is called


(a)
a sample


(b)
a population.


(c)
a parameter.


(d)
a statistic.

6.
The portion of the universe that has been selected for analysis is called


(a)
a sample


(b)
a population.


(c)
a parameter.


(d)
a statistic.

7.
A summary measure that is computed to describe a characteristic from only a sample of the population is called


(a)
a parameter.


(b)
the random generator.


(c)
a statistic.


(d)
the scientific method.

8.
A summary measure that is computed to describe a characteristic of an entire population is called


(a)
a parameter.


(b)
the random generator.


(c)
a statistic.


(d)
the scientific method.

9.
The increased use of statistical methods in recent years is primarily due to


(a)
scientific exploration.


(b)
mathematical inquisitiveness.


(c)
an increased interest in gambling.


(d)
the accessibility of computers.

10.
Statistics can be defined as:


(a)
a technique in which numbers are used to prove anything to anybody.


(b)
the science that gives credence to congressional decision.


(c)
a college course designed to weed out marginal students.


(d)
the science that deals with collecting, analyzing, and interpreting data.

11.
By making generalisations about a larger group based on the results of a smaller sample taken from that group, one enters into the realm of 


(a)
descriptive statistics.


(b)
population statistics.


(c)
inferential statistics.


(d)
theoretical statistics.

12.
When making a decision using inferential statistics,


(a)
you are absolutely sure that the correct decision will be made.


(b)
the conclusion is correct only for the items in the sample.


(c)
you have no control over the risk of reaching an incorrect conclusion.

(d)
you realise that there is some chance that an incorrect decision could be made, but you have some control over the probability of that happening.

13.
The process of using sample statistics to draw conclusions about the true population parameters is called


(a)
inferential statistics.


(b)
the scientific method.


(c)
sampling.


(d)
descriptive statistics.

A data set is complied for all students in your BIA class. For each student, the following are recorded:

(a) hometown
(b) gender
(c) height
(d) weight


(e) left or right handed
(f) amount of money currently holding

(g) quality point average so far in the college

(h) date of birth
(i) previous education level

14.
Which of the above data are qualitative?

15.
Which of the above data are quantitative?

16. Which of the above data are in nominal level?

17. Which of the above data are in ordinal level?

18. Which of the above data are in interval level?

19. Which of the above data are in ratio level?

20.
A study is performed in which a randomly selected half of the students are taught by the professor and the other half are taught by a computer programme. This study is 


(a)
observational.


(b)
experimental.

21.
The management of a large corporation (3,000 employees) took a random sample of 100 employees to ascertain their opinion of a new four-day workweek proposal. They found that 55 of the employees sampled favoured the four-day plan. Management can correctly assume that the true proportion of all 3,000 employees who favour the four-day workweek is 


(a)
55%.


(b)
likely to be greater than 70%.


(c)
somewhere in the vicinity of 55%.


(d)
no assumptions can be made.

22.
When a firm test-markets a product, is the firm involved in a descriptive statistics problem or an inferential statistics problem? Why?

Students are always mixing up the terms population and sample, parameter and statistics, descriptive and inferential statistics. The purpose of this seminar exercise is to clarify the definition of these terms and the explication of the four levels of measurement

Seminar 2 (Suggested Solution)

1. 
d

2.
d

3.
a

4.
b

5.
b

6.
a

7.
c

8.
a

9.
d

10.
d

11.
c

12.
d

13.
a

14.
a, b, e, i

15.
c, d, f, g, h

16.
a, b, e

17.
i

18.
h

19.
c, d, f, g

20.
b

21.
c

22.
inferential statistics, explain the process of test market.
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